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NEW QUESTION 1
An organization is using a VPC endpoint for Amazon S3. When the security group rules for a set of instances were initially configured, access was restricted to
allow traffic only to the IP addresses of the Amazon S3 API endpoints in the region from the published JSON file. The application was working properly, but now is
logging a growing number of timeouts when connecting with Amazon S3. No internet gateway is configured for the VPC.
Which solution will fix the connectivity failures with the LEAST amount of effort?

A. Create a Lambda function to update the security group based on AmazonIPSpaceChanged notifications.
B. Update the VPC routing to direct Amazon S3 prefix-list traffic to the VPC endpoint using the route table APIs.
C. Update the application server’s outbound security group to use the prefix-list for Amazon S3 in the same region.
D. Create an additional VPC endpoint for Amazon S3 in the same route table to scale the concurrent connections to Amazon.

Answer: C

Explanation: 
https://aws.amazon.com/blogs/aws/subscribe-to-aws-public-ip-address-changes-via-amazon-sns/

NEW QUESTION 2
A data analytics company has a 100-node high performance computing (HPC) cluster. The HPC cluster is for parallel data processing and is hosted in a VPC in
the AWS Cloud. As part of the data processing workflow, the HPC cluster needs to perform several DNS queries to resolve and connect to Amazon RDS
databases, Amazon S3 buckets, and on-premises data stores that are accessible through AWS Direct Connect. The HPC cluster can increase in size by five to
seven times during the company’s peak event at the end of the year.
The company is using two Amazon EC2 instances as primary DNS servers for the VPC. The EC2 instances are configured to forward queries to the default VPC
resolver for Amazon Route 53 hosted domains and to the on-premises DNS servers for other on-premises hosted domain names. The company notices job
failures and finds that DNS queries from the HPC cluster nodes failed when the nodes tried to resolve RDS and S3 bucket endpoints.
Which architectural change should a network engineer implement to provide the DNS service in the MOST scalable way?

A. Scale out the DNS service by adding two additional EC2 instances in the VP
B. Reconfigure half of the HPC cluster nodes to use these new DNS server
C. Plan to scale out by adding additional EC2instance-based DNS servers in the future as the HPC cluster size grows.
D. Scale up the existing EC2 instances that the company is using as DNS server
E. Change the instance size to the largest possible instance size to accommodate the current DNS load and theanticipated load in the future.
F. Create Route 53 Resolver outbound endpoint
G. Create Route 53 Resolver rules to forward queries to on-premises DNS servers for on premises hosted domain name
H. Reconfigure the HPC cluster nodes to use the default VPC resolver instead of the EC2 instance-based DNS server
I. Terminate the EC2 instances.
J. Create Route 53 Resolver inbound endpoint
K. Create rules on the on-premises DNS servers to forward queries to the default VPC resolve
L. Reconfigure the HPC cluster nodes to forward all DNS queries to the on-premises DNS server
M. Terminate the EC2 instances.

Answer: C

NEW QUESTION 3
A company is planning to use Amazon S3 to archive financial data. The data is currently stored in an
on-premises data center. The company uses AWS Direct Connect with a Direct Connect gateway and a transit gateway to connect to the on-premises data center.
The data cannot be transported over the public internet and must be encrypted in transit.
Which solution will meet these requirements?

A. Create a Direct Connect public VI
B. Set up an IPsec VPN connection over the public VIF to access Amazon S3. Use HTTPS for communication.
C. Create an IPsec VPN connection over the transit VI
D. Create a VPC and attach the VPC to the transit gatewa
E. In the VPC, provision an interface VPC endpoint for Amazon S3. Use HTTPS for communication.
F. Create a VPC and attach the VPC to the transit gatewa
G. In the VPC, provision an interface VPC endpoint for Amazon S3. Use HTTPS for communication.
H. Create a Direct Connect public VI
I. Set up an IPsec VPN connection over the public VIF to the transit gatewa
J. Create an attachment for Amazon S3. Use HTTPS for communication.

Answer: B

NEW QUESTION 4
A company deploys a new web application on Amazon EC2 instances. The application runs in private subnets in three Availability Zones behind an Application
Load Balancer (ALB). Security auditors require encryption of all connections. The company uses Amazon Route 53 for DNS and uses AWS Certificate Manager
(ACM) to automate SSL/TLS certificate provisioning. SSL/TLS connections are terminated on the ALB.
The company tests the application with a single EC2 instance and does not observe any problems. However, after production deployment, users report that they
can log in but that they cannot use the application. Every new web request restarts the login process.
What should a network engineer do to resolve this issue?

A. Modify the ALB listener configuratio
B. Edit the rule that forwards traffic to the target grou
C. Change the rule to enable group-level stickines
D. Set the duration to the maximum application session length.
E. Replace the ALB with a Network Load Balance
F. Create a TLS listene
G. Create a new target group with the protocol type set to TLS Register the EC2 instance
H. Modify the target group configuration by enabling the stickiness attribute.
I. Modify the ALB target group configuration by enabling the stickiness attribut
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J. Use an application-based cooki
K. Set the duration to the maximum application session length.
L. Remove the AL
M. Create an Amazon Route 53 rule with a failover routing policy for the application nam
N. Configure ACM to issue certificates for each EC2 instance.

Answer: C

NEW QUESTION 5
An international company provides early warning about tsunamis. The company plans to use IoT devices to monitor sea waves around the world. The data that is
collected by the IoT devices must reach the company’s infrastructure on AWS as quickly as possible. The company is using three operation centers around the
world. Each operation center is connected to AWS through Its own AWS Direct Connect connection. Each operation center is connected to the internet through at
least two upstream internet service providers.
The company has its own provider-independent (PI) address space. The IoT devices use TCP protocols for reliable transmission of the data they collect. The IoT
devices have both landline and mobile internet connectivity. The infrastructure and the solution will be deployed in multiple AWS Regions. The company will use
Amazon Route 53 for DNS services.
A network engineer needs to design connectivity between the IoT devices and the services that run in the AWS Cloud.
Which solution will meet these requirements with the HIGHEST availability?

A. Set up an Amazon CloudFront distribution with origin failove
B. Create an origin group for each Region where the solution is deployed.
C. Set up Route 53 latency-based routin
D. Add latency alias record
E. For the latency alias records, set the value of Evaluate Target Health to Yes.
F. Set up an accelerator in AWS Global Accelerato
G. Configure Regional endpoint groups andhealth checks.
H. Set up Bring Your Own IP (BYOIP) addresse
I. Use the same PI addresses for each Region where the solution is deployed.

Answer: B

Explanation: 
https://aws.amazon.com/blogs/iot/automate-global-device-provisioning-with-aws-iot-core-and-amazon-route-53

NEW QUESTION 6
A company has deployed a critical application on a fleet of Amazon EC2 instances behind an Application Load Balancer. The application must always be
reachable on port 443 from the public internet. The application recently had an outage that resulted from an incorrect change to the EC2 security group.
A network engineer needs to automate a way to verify the network connectivity between the public internet and the EC2 instances whenever a change is made to
the security group. The solution also must notify the network engineer when the change affects the connection.
Which solution will meet these requirements?

A. Enable VPC Flow Logs on the elastic network interface of each EC2 instance to capture REJECT traffic on port 443. Publish the flow log records to a log group
in Amazon CloudWatch Log
B. Create a CloudWatch Logs metric filter for the log group for rejected traffi
C. Create an alarm to notify the network engineer.
D. Enable VPC Flow Logs on the elastic network interface of each EC2 instance to capture all traffic on port 443. Publish the flow log records to a log group in
Amazon CloudWatch Log
E. Create a CloudWatch Logs metric filter for the log group for all traffi
F. Create an alarm to notify the network engineer
G. Create a VPC Reachability Analyzer path on port 443. Specify the security group as the sourc
H. Specify the EC2 instances as the destinatio
I. Create an Amazon Simple Notification Service (Amazon SNS) topic to notify the network engineer when a change to the security group affects the connectio
J. Createan AWS Lambda function to start Reachability Analyzer and to publish a message to the SNS topic in case the analyses fail Create an Amazon
EventBridge (Amazon CloudWatch Events) rule to invoke the Lambda function when a change to the security groupoccurs.
K. Create a VPC Reachability Analyzer path on port 443. Specify the internet gateway of the VPC as the sourc
L. Specify the EC2 instances as the destinatio
M. Create an Amazon Simple Notification Service (Amazon SNS) topic to notify the network engineer when a change to the security group affects the connectio
N. Create an AWS Lambda function to start Reachability Analyzer and to publish a message to the SNS topic in case the analyses fai
O. Create an Amazon EventBridge (Amazon CloudWatch Events) rule to invoke the Lambda function when a change to the security group occurs.

Answer: C

NEW QUESTION 7
A company has its production VPC (VPC-A) in the eu-west-1 Region in Account 1. VPC-A is attached to a transit gateway (TGW-A) that is connected to an on-
premises data center in Dublin, Ireland, by an AWS Direct Connect transit VIF that is configured for an AWS Direct Connect gateway. The company also has a
staging VPC (VPC-B) that is attached to another transit gateway (TGW-B) in the eu-west-2 Region in Account 2.
A network engineer must implement connectivity between VPC-B and the on-premises data center in Dublin. Which solutions will meet these requirements?
(Choose two.)

A. Configure inter-Region VPC peering between VPC-A and VPC-
B. Add the required VPC peering route
C. Add the VPC-B CIDR block in the allowed prefixes on the Direct Connect gateway association.
D. Associate TGW-B with the Direct Connect gatewa
E. Advertise the VPC-B CIDR block under the allowed prefixes.
F. Configure another transit VIF on the Direct Connect connection and associate TGW-
G. Advertise the VPC-B CIDR block under the allowed prefixes.
H. Configure inter-Region transit gateway peering between TGW-A and TGW-
I. Add the peering routes in the transit gateway route table
J. Add both the VPC-A and the VPC-B CIDR block under the allowed prefix list in the Direct Connect gateway association.
K. Configure an AWS Site-to-Site VPN connection over the transit VIF to TGW-B as a VPN attachment.
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Answer: BC

Explanation: 
* B. Associate TGW-B with the Direct Connect gateway. Advertise the VPC-B CIDR block under the allowed prefixes. This will allow traffic from VPC-B to be sent
over the Direct Connect connection to the on-premises data center via TGW-B. C. Configure another transit VIF on the Direct Connect connection and associate
TGW-B. Advertise the VPC-B CIDR block under theallowed prefixes. This will enable the use of the Direct Connect connection for VPC-B's traffic by connecting
TGW-B to the Direct Connect gateway.

NEW QUESTION 8
A company is planning to create a service that requires encryption in transit. The traffic must not be decrypted between the client and the backend of the service.
The company will implement the service by using the gRPC protocol over TCP port 443. The service will scale up to thousands of simultaneous connections. The
backend of the service will be hosted on an Amazon Elastic Kubernetes Service (Amazon EKS) duster with the Kubernetes Cluster Autoscaler and the Horizontal
Pod Autoscaler configured. The company needs to use mutual TLS for two-way authentication between the client and the backend.
Which solution will meet these requirements?

A. Install the AWS Load Balancer Controller for Kubernete
B. Using that controller, configure a Network Load Balancer with a TCP listener on port 443 to forward traffic to the IP addresses of the backend service Pods.
C. Install the AWS Load Balancer Controller for Kubernete
D. Using that controller, configure an Application Load Balancer with an HTTPS listener on port 443 to forward traffic to the IP addresses of the backend service
Pods.
E. Create a target grou
F. Add the EKS managed node group's Auto Scaling group as a target Create an Application Load Balancer with an HTTPS listener on port 443 to forward traffic to
the target group.
G. Create a target grou
H. Add the EKS managed node group’s Auto Scaling group as a targe
I. Create a Network Load Balancer with a TLS listener on port 443 to forward traffic to the target group.

Answer: B

Explanation: 
https://docs.aws.amazon.com/elasticloadbalancing/latest/application/load-balancer-target-groups.html#target-gro

NEW QUESTION 9
Your company runs an application for the US market in the us-east-1 AWS region. This application uses proprietary TCP and UDP protocols on Amazon Elastic
Compute Cloud (EC2) instances. End users run a
real-time, front-end application on their local PCs. This front-end application knows the DNS hostname of the service.
You must prepare the system for global expansion. The end users must access the application with lowest latency.
How should you use AWS services to meet these requirements?

A. Register the IP addresses of the service hosts as “A” records with latency-based routing policy in Amazon Route 53, and set a Route 53 health check for these
hosts.
B. Set the Elastic Load Balancing (ELB) load balancer in front of the hosts of the service, and register the ELB name of the main service host as an ALIAS record
with a latency-based routing policy in Route 53.
C. Set Amazon CloudFront in front of the host of the service, and register the CloudFront name of the mainservice as an ALIAS record in Route 53.
D. Set the Amazon API gateway in front of the service, and register the API gateway name of the main service as an ALIAS record in Route 53.

Answer: B

NEW QUESTION 10
All IP addresses within a 10.0.0.0/16 VPC are fully utilized with application servers across two Availability Zones. The application servers need to send frequent
UDP probes to a single central authentication server on the Internet to confirm that is running up-to-date packages. The network is designed for application servers
to use a single NAT gateway for internal access. Testing reveals that a few of the servers are unable to communicate with the authentication server.

A. The NAT gateway does not support UDP traffic.
B. The authentication server is not accepting traffic.
C. The NAT gateway cannot allocate more ports.
D. The NAT gateway is launched in a private subnet.

Answer: C

Explanation: 
Ref:https://docs.aws.amazon.com/vpc/latest/userguide/vpc-nat-gateway.html
"A NAT gateway can support up to 55,000 simultaneous connections to each unique destination. This limit also applies if you create approximately 900
connections per second to a single destination (about 55,000 connections per minute). If the destination IP address, the destination port, or the protocol
(TCP/UDP/ICMP) changes, you can create an additional 55,000 connections. For more than 55,000 connections, there is an increased chance of connection
errors due to port allocation errors. These errors can be monitored by viewing the ErrorPortAllocation CloudWatch metric for your NAT gateway. For more
information, see Monitoring NAT Gateways Using Amazon CloudWatch."

NEW QUESTION 10
A Network Engineer is provisioning a subnet for a load balancer that will sit in front of a fleet ofapplication servers in a private subnet. There is limited IP space left
in the VPC CIDR. The application has few users now but is expected to grow quickly to millions of users.
What design will use the LEAST amount of IP space, while allowing for this growth?

A. Use two /29 subnets for an Application Load Balancer in different Availability Zones.
B. Use one /29 subnet for the Network Load Balance
C. Add another VPC CIDR to the VPC to allow for future growth.
D. Use two /28 subnets for a Network Load Balancer in different Availability Zones.
E. Use one /28 subnet for an Application Load Balance
F. Add another VPC CIDR to the VPC to allow for future growth.
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Answer: C

NEW QUESTION 11
You deploy an Amazon EC2 instance that runs a web server into a subnet in a VPC. An Internet gateway is attached, and the main route table has a default route
(0.0.0.0/0) configured with a target of the Internet gateway.
The instance has a security group configured to allow as follows:

 Protocol: TCP

 Port: 80 inbound, nothing outbound
The Network ACL for the subnet is configured to allow as follows:

 Protocol: TCP

 Port: 80 inbound, nothing outbound
When you try to browse to the web server, you receive no response. Which additional step should you take to receive a successful response?

A. Add an entry to the security group outbound rules for Protocol: TCP, Port Range: 80
B. Add an entry to the security group outbound rules for Protocol: TCP, Port Range: 1024-65535
C. Add an entry to the Network ACL outbound rules for Protocol: TCP, Port Range: 80
D. Add an entry to the Network ACL outbound rules for Protocol: TCP, Port Range: 1024-65535

Answer: D

Explanation: 
To enable the connection to a service running on an instance, the associated network ACL must allow both inbound traffic on the port that the service is listening
on as well as allow outbound traffic from ephemeral ports. When a client connects to a server, a random port from the ephemeral port range (1024-65535)
becomes the client's source port. The designated ephemeral port then becomes the destination port for return traffic from the service, so outbound traffic from the
ephemeral port must be allowed in the network ACL.https://aws.amazon.com/premiumsupport/knowledge-center/resolve-connection-sg-acl-inbound/

NEW QUESTION 13
A company is deploying an application. The application is implemented in a series of containers in an Amazon Elastic Container Service (Amazon ECS) cluster.
The company will use the Fargate launch type for its tasks. The containers will run workloads that require connectivity initiated over an SSL connection. Traffic
must be able to flow to the application from other AWS accounts over private connectivity. The application must scale in a manageable way as more consumers
use the application.
Which solution will meet these requirements?

A. Choose a Gateway Load Balancer (GLB) as the type of load balancer for the ECS servic
B. Create a lifecycle hook to add new tasks to the target group from Amazon ECS as required to handle scalin
C. Specify the GLB in the service definitio
D. Create a VPC peer for external AWS account
E. Update the route tables so that the AWS accounts can reach the GLB.
F. Choose an Application Load Balancer (ALB) as the type of load balancer for the ECS servic
G. Create path-based routing rules to allow the application to target the containers that are registered in the target grou
H. Specify the ALB in the service definitio
I. Create a VPC endpoint service for the ALB Share the VPC endpoint service with other AWS accounts.
J. Choose an Application Load Balancer (ALB) as the type of load balancer for the ECS servic
K. Create path-based routing rules to allow the application to target the containers that are registered in the target grou
L. Specify the ALB in the service definitio
M. Create a VPC peer for the external AWS account
N. Update the route tables so that the AWS accounts can reach the ALB.
O. Choose a Network Load Balancer (NLB) as the type of load balancer for the ECS servic
P. Specify the NLB in the service definitio
Q. Create a VPC endpoint service for the NL
R. Share the VPC endpoint service with other AWS accounts.

Answer: D

NEW QUESTION 14
A network engineer has deployed an Amazon EC2 instance in a private subnet in a VPC. The VPC has no public subnet. The EC2 instance hosts application code
that sends messages to an Amazon Simple Queue Service (Amazon SQS) queue. The subnet has the default network ACL with no modification applied. The EC2
instance has the default security group with no modification applied.
The SQS queue is not receiving messages.
Which of the following are possible causes of this problem? (Choose two.)

A. The EC2 instance is not attached to an IAM role that allows write operations to Amazon SQS.
B. The security group is blocking traffic to the IP address range used by Amazon SQS
C. There is no interface VPC endpoint configured for Amazon SQS
D. The network ACL is blocking return traffic from Amazon SQS
E. There is no route configured in the subnet route table for the IP address range used by Amazon SQS

Answer: CE

NEW QUESTION 15
A company wants to improve visibility into its AWS environment. The AWS environment consists of multiple VPCs that are connected to a transit gateway. The
transit gateway connects to an on-premises data center through an AWS Direct Connect gateway and a pair of redundant Direct Connect connections that use
transit VIFs. The company must receive notification each time a new route is advertised to AWS from on premises over Direct Connect.
What should a network engineer do to meet these requirements?

A. Enable Amazon CloudWatch metrics on Direct Connect to track the received route
B. Configure a CloudWatch alarm to send notifications when routes change.
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C. Onboard Transit Gateway Network Manager to Amazon CloudWatch Logs Insight
D. Use Amazon EventBridge (Amazon CloudWatch Events) to send notifications when routes change.
E. Configure an AWS Lambda function to periodically check the routes on the Direct Connect gateway and to send notifications when routes change.
F. Enable Amazon CloudWatch Logs on the transit VIFs to track the received route
G. Create a metric filter Set an alarm on the filter to send notifications when routes change.

Answer: B

Explanation: 
https://docs.aws.amazon.com/network-manager/latest/cloudwan/cloudwan-cloudwatch-events.html
To receive notification each time a new route is advertised to AWS from on premises over Direct Connect, a network engineer should onboard Transit Gateway
Network Manager to Amazon CloudWatch Logs Insights and use Amazon EventBridge (Amazon CloudWatch Events) to send notifications when routes change
(Option B). This solution allows for real-time monitoring of route changes and automatic notification when new routes are advertised.

NEW QUESTION 18
A company is building its website on AWS in a single VPC. The VPC has public subnets and private subnets in two Availability Zones. The website has static
content such as images. The company is using Amazon S3 to store the content.
The company has deployed a fleet of Amazon EC2 instances as web servers in a private subnet. The EC2 instances are in an Auto Scaling group behind an
Application Load Balancer. The EC2 instances will serve traffic, and they must pull content from an S3 bucket to render the webpages. The company is using AWS
Direct Connect with a public VIF for on-premises connectivity to the S3 bucket.
A network engineer notices that traffic between the EC2 instances and Amazon S3 is routing through a NAT gateway. As traffic increases, the company's costs are
increasing. The network engineer needs to change the connectivity to reduce the NAT gateway costs that result from the traffic between the EC2 instances and
Amazon S3.
Which solution will meet these requirements?

A. Create a Direct Connect private VI
B. Migrate the traffic from the public VIF to the private VIF.
C. Create an AWS Site-to-Site VPN tunnel over the existing public VIF.
D. Implement interface VPC endpoints for Amazon S3. Update the VPC route table.
E. Implement gateway VPC endpoints for Amazon S3. Update the VPC route table.

Answer: D

NEW QUESTION 21
A company operates its IT services through a multi-site hybrid infrastructure. The company deploys resources on AWS in the us-east-1 Region and in the eu-
west-2 Region. The company also deploys resources in its own data centers that are located in the United States (US) and in the United Kingdom (UK). In both
AWS Regions, the company uses a transit gateway to connect 15 VPCs to each other. The company has created a transit gateway peering connection between
the two transit gateways. The VPC CIDR blocks do not overlap with each other or with IP addresses used within the data centers. The VPC CIDR prefixes can also
be aggregated either on a Regional level or for the company's entire AWS environment.
The data centers are connected to each other by a private WAN connection. IP routing information is exchanged dynamically through Interior BGP (iBGP)
sessions. The data centers maintain connectivity to AWS through one AWS Direct Connect connection in the US and one Direct Connect connection in the UK.
Each Direct Connect connection is terminated on a Direct Connect gateway and is associated with a local transit gateway through a transit VIF.
Traffic follows the shortest geographical path from source to destination. For example, packets from the UK data center that are targeted to resources in eu-west-2
travel across the local Direct Connect connection. In cases of cross-Region data transfers, such as from the UK data center to VPCs in us-east-1, the private WAN
connection must be used to minimize costs on AWS. A network engineer has configured each transit gateway association on the Direct Connect gateway to
advertise VPC-specific CIDR IP prefixes only from the local Region. The routes toward the other Region must be learned through BGP from the routers in the other
data center in the original, non-aggregated form.
The company recently experienced a problem with cross-Region data transfers because of issues with its private WAN connection. The network engineer needs to
modify the routing setup to prevent similar interruptions in the future. The solution cannot modify the original traffic routing goal when the network is operating
normally.
Which modifications will meet these requirements? (Choose two.)

A. Remove all the VPC CIDR prefixes from the list of subnets advertised through the local Direct Connect connectio
B. Add the company's entire AWS environment aggregate route to the list of subnets advertised through the local Direct Connect connection.
C. Add the CIDR prefixes from the other Region VPCs and the local VPC CIDR blocks to the list of subnets advertised through the local Direct Connect connectio
D. Configure data center routers to make routing decisions based on the BGP communities received.
E. Add the aggregate IP prefix for the other Region and the local VPC CIDR blocks to the list of subnets advertised through the local Direct Connect connection.
F. Add the aggregate IP prefix for the company's entire AWS environment and the local VPC CIDR blocks to the list of subnets advertised through the local Direct
Connect connection.
G. Remove all the VPC CIDR prefixes from the list of subnets advertised through the local Direct Connect connectio
H. Add both Regional aggregate IP prefixes to the list of subnets advertised through the Direct Connect connection on both sides of the networ
I. Configure data center routers to make routing decisions based on the BGP communities received.

Answer: AD

NEW QUESTION 26
......
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